academicJournals

Vol. 14(45), pp. 3044-3050, 11 November, 2015 DOI: 10.5897/AJB2015.14952 Article Number: 53C487D56207 ISSN 1684-5315 Copyright © 2015 Author(s) retain the copyright of this article http://www.academicjournals.org/AJB

African Journal of Biotechnology

Full Length Research Paper

Selection of okra parents based on performance and genetic divergence

André Pugnal Mattedi¹, Bruno Soares Laurindo¹, Derly José Henriques da Silva¹, Carlos Nick Gomes¹, Leonardo Lopes Bhering^{2*} and Moacil Alves de Souza¹

¹Departamento de Fitotecnia, Universidade Federal de Viçosa (UFV), Avenida P.H. Rolfs, s/nº, Campus Universitário, CEP 36570-900, Viçosa, Brasil.

²Departamento de Biologia Geral, Universidade Federal de Viçosa, Avenida P.H. Rolfs, s/nº, Campus Universitário, CEP 36570-900, Viçosa, Brasil.

Received 29 August, 2015; Accepted 26 October, 2015

A total of 200 okra accessions with wide variability and a potential for genetic improvement were stored in the Vegetables Germplasm Bank of the Federal University of Viçosa (UFV-BGH) in Viçosa, Minas Gerais State, Brazil. The objective of this work was to select parents by genetic divergence and behavior *per se* in 70 okra accessions from the BGH-UFV by quantitative and qualitative descriptors of economic interest. Analysis of individual and combined variance, by clustering of means by Scott-Knott test, of the accessions by Tocher's method and selection based on qualitative descriptors and behavior *per se* using the methodology of sum of inverted positions was made. The variability of the characteristics of the accessions as verified by the Scott-Knott test formed different groups and subgroups by Tocher's method. Fifteen accessions were selected with the qualitative descriptors, and based on the sum of inverted positions for quantitative descriptors the BGH-132, BGH-547, BGH-693, BGH-740, BGH-961, BGH-7863, BGH- 7865, BGH-3196 and BGH-4890 okra accessions were selected as potential parents.

Key words: Abelmoschus esculentus (L.) Moench, germplasm bank, genetic resource, genetic improvement.

INTRODUCTION

India is the diversity center of cultivated okra [*Abelmoschus esculentus* (L.) Moench] (Haq et al., 2013). Also, this plant has great economic importance, especially in tropical and subtropical regions (Yuan et al., 2014), due to the fact that it does not need high technological input to be successfully grown (Aguiar et al., 2013). The climatic conditions of Brazil, especially in the northeastern, midwestern, and southeastern regions

favor the intensive cultivation of okra, mainly by small producers (Aguiar et al., 2013). Okra fruit is a good dietary supplement which is free of fat and low in calories (Patil et al., 2013). Genetic improvement mainly depends on the amount of genetic variability present in the population (Koundinya et al., 2013). In any crop, the germplasm serves as a valuable source of base population and offer major source of variability (Ramya

*Corresponding author. E-mail: leonardo.bhering@ufv.br. Tel: (31) 3899-1166.

Author(s) agree that this article remains permanently open access under the terms of the <u>Creative Commons Attribution</u> <u>License 4.0 International License</u> and Senthil Kumar, 2009). The Vegetable Germplasm Bank of the Federal University of Vicosa (UFV-BGH) has more than 200 okra accesses. The genetic characterization of these accessions provides useful information for understanding and harnessing genetic diversity (Cerqueira-Silva et al., 2014). Furthermore, these assessment works can be used to infer the variability of the collection and to identify its potential uses in genetic improvement programs (Gonçalves et al., 2009).

The genetic diversity assessed by biometric techniques or predictive processes, provides opportunity for plant breeders to develop new and improved cultivars with desirable characteristics (Govindaraj et al., 2015) and also provides information of potential parents for breeding programs (Costa et al., 2011). Moreover, multivariate methods based on predictive processes are being used for okra crop (Garg et al., 2011; Singh et al., 2012; Das et al., 2013). The choice of parents based on behavior *per se* is crucial for breeding programs and can generate superior populations (Santos et al., 2011). The objective of this study was to characterize and evaluate the genetic divergence of 70 okra accessions from the BGH-UFV to select potential parents based on the predictive processes and behaviors *per se*.

MATERIALS AND METHODS

Plant genetic resources and experiments

Seventy okra accessions from BGH-UFV were evaluated in two experiments in a randomized block design with three repetitions, in the Vegetable Crops Sector of the Department of Plant Science, Universidade Federal de Viçosa (20°45'14 "S, 42°52'53" W and 648,74 m) in Viçosa, Minas Gerais, Brazil. Two experiments were conducted with 37 and 33 okra accessions evaluated in the first and second experiments between September 2010 and February 2011 and September 2011 and February 2012, respectively. The following controls were used: Santa Cruz 47 (cultivar pure line), TPX903 and TPX4460 (hybrids) (Table 1).

Characterization and morphoagronomic selection

The quantitative and qualitative descriptors proposed by the International Plant Genetic Resources Institute (IPGRI) (1998) and others deemed necessary for their agronomic importance were used to characterize and evaluate the okra accessions (Table 2). The agronomic descriptors of economic interests were: (PI): precocity index (%) - the ratio between the sum of the mass of the fruits of the first six harvests and the total fruit multiplied by 100, (NFr): number of fruits per plant, (AFW): average fruit weight (g), and (TWF): total weight of fruits per plant (g). The accessions were selected as potential parents in three stages: (1) selection based on qualitative descriptors of economic interest (that is, green colour; predominant format of round fruit, angular pods, or smooth fruit surface), (2) per se behavior using the methodology of sum of inverted positions based on the weight posts index (Mulamba and Mock, 1978) for quantitative descriptors of economic interest, and (3) genetic divergence among accessions. Data from each experiment were submitted to the analysis of variance (F test) and the group means were compared by the Scott-Knott test at 5%

probability. The best accessions were identified based on the sum of inverted positions methodology classifying the accessions for each of the characters of economic interest, aiming to improve favorable ones, and getting the sum of ranks. The means were compared by Scott-Knott test and used in the sum of the ranks with weights reversed based on access grouping. The accessions of groups of greatest interest received the highest score, and so on. The number of grades allocated was the same as that of accesses. For example, for the characteristic average fruit weight of the second experiment (Table 3), accessions were clustered into three groups: the first and more productive, received the grade three; the intermediate received grade two, and the lower production, received grade one.

The study of genotype x environmental interaction (Freeman, 1973) was made in the evaluation of genetic divergence among accessions to the characteristics of economic interest using the common control in the experiments as well as in the variance analysis and multivariate analysis, the Mahalanobis distance was used as dissimilarity measure (Mahalanobis, 1936) and the Tocher's method to form groups (Rao, 1952). Analyses were performed using the computer application GENES (Cruz, 2013).

RESULTS

The 70 okra accessions showed variability when characterized by qualitative descriptors (IPGRI,1998). In the first stage based on the qualitative descriptors of economic interest (that is, green colour; predominant format of round fruit, angular pods, or smooth fruit surface), 15 of the 70 accessions were selected: BGH-132, BGH-311, BGH-7838, BGH-359, BGH-547, BGH-693, BGH-740, BGH-961, BGH-7863, BGH-7865, BGH-1248, BGH-3196, BGH-4162, BGH-4890, BGH-4913, 11 from the first experiment and 4 from the second, representing 22% of the accessions. The genotypes showed differences in both experiments ($p \le 0.05$). For quantitative descriptors of economic interest, earliness index (%), number of fruits per plant, and average and total weight of fruits per plant (Table 3). Quantitative descriptors of economic interest allowed observing different groups of means by the Scott-Knott test at 5% probability. However, the average of the total fruit production in the first experiment and the number of fruits per plant in the second was similar to those of the control, while the average fruit weight in the second formed three groups (Table 3). The sum of inverted positions for quantitative descriptors of economic interest (Table 3) selected the BGH-132, BGH-547, BGH-693, BGH-740, BGH-961, BGH-7863, BGH-7865, BGH-3196 and BGH-4890 accessions with the highest scores in the first stage and therefore as potential parents. The scores of these accessions were higher than the control, that is, Santa Cruz 47 and similar to the hybrid in different experiments, with higher scores for the BGH-4890. A total of 13% of genotypes was selected based on their per se to the economic performance descriptors.

The BGH-132 BGH-547, BGH-961 and BGH-7865 accessions were allocated to the group of the earliest production, highlighting the BGH-961, the most precocity index, superior to the hybrid controls (TPX903 and

Code name	Origin	Year	Code name	Origin	Year
BGH - 36	Teófilo Otoni, MG	1966	BGH - 3143	Irã	1969
BGH -100	Feira de Santana, BA	1966	BGH - 3148	Irã	1969
BGH - 101	Feira de Santana, BA	1966	BGH - 3161	Paquistão	1969
BGH - 7799	Salvador, BA	1966	BGH - 3170	Turquia	1969
BGH - 132	Estância, SE	1966	BGH - 3182	Turquia	1969
BGH - 7800	Aracaju, SE	1966	BGH - 3183	Turquia	1969
BGH - 149	Aracaju, SE	1966	BGH - 3188	Turquia	1969
BGH - 182	Santo Antão, PE	1966	BGH - 3196	Turquia	1969
BGH - 190	Santo Antão, PE	1966	BGH - 3215	Turquia	1969
BGH - 7811	Recife, PE	1966	BGH - 3226	Turquia	1969
BGH - 295	Belo Horizonte, MG	1966	BGH - 3227	Turquia	1969
BGH - 311	Brasilia, DF	1966	BGH - 4162	Colatina, ES	1967
BGH - 315	Brasilia, DF	1966	BGH - 4364	Capinópolis, MG	1969
BGH - 339	Goiania, GO	1966	BGH - 7912	Viçosa, MG	1968
BGH - 345	Goiania, GO	1966	BGH - 4890	Ilha Careiro, AM	1975
BGH - 348	Jussara, GO	1966	BGH - 4891	Ilha Careiro, AM	1975
BGH - 358	Jussara, GO	1966	BGH - 4893	Manacaparu, AM	1975
BGH - 7838	Jussara, GO	1966	BGH - 4894	Lago Purpuro, AM	1975
BGH - 361	Jussara, GO	1966	BGH - 4897	Urucará, AM	1975
BGH - 395	Jussara, GO	1966	BGH - 4900	Santa Leopoldina, ES	1975
BGH - 435	Jussara, GO	1966	BGH - 4903	Perolândia, ES	1975
BGH - 541	Unaí, MG	1966	BGH - 4904	Perolândia, ES	1975
BGH - 547	Unaí, MG	1966	BGH - 4907	Mutum, MG	1975
BGH - 548	Unaí, MG	1966	BGH - 4908	Mutum, MG	1975
BGH - 577	Nova Friburgo, RJ	1966	BGH - 4910	Mutum, MG	1975
BGH - 643	S. J. Del Rei, MG	1966	BGH - 4913	Mutum, MG	1975
BGH - 667	Lavras, MG	1966	BGH - 4922	Aimorés, MG	1975
BGH - 693	Itiquira, MT	1966	BGH - 4945	Colatina, ES	1975
BGH - 740	Varzea Grande, MT	1967	BGH - 5408	Manaus, AM	1981
BGH - 960	Campinas, SP	1966	BGH - 5417	Senador Firmino, MG	1981
BGH - 961	Campinas, SP	1966	BGH - 5421	Viçosa, MG	1981
BGH - 7863	Porto Firme, MG	1967	BGH - 6988	Caxambu, MG	1999
BGH - 7864	Porto Firme, MG	1967	BGH - 7448	São Luis, MA	1999
BGH - 7865	Porto Firme, MG	1967	Santa Cruz 47	Agristar do Brasil	2010
BGH - 1248	Recife, PE	1969	TPX - 903	Agristar do Brasil	2010
BGH - 8013	Universidade Purdue	1966	TPX - 4460	Agristar do Brasil	2010
BGH - 3090	Armênia	1969			

Table 1. Code name, origin, and year of collection of 70 okra accessions from the Vegetable Germplasm Bank of the Federal University of Viçosa (UFV-BGH) and commercial controls, Viçosa, Minas Gerais State, Brazil.

*Local collection of reference or introduction of the accessions.

TPX4460) with high precocity. Moreover, productivity of these accessions was similar to that of the control group (Table 3). Interaction at the 1% probability level by *F* test for genotype × environment for characteristics of economic interest was not observed (Table 4). Cluster analysis by the Tocher's optimization method (Table 5) initially separated the genotypes into two groups; the first group having the largest number of genotypes (98.5%) and the second with BGH-6988 access. However, the total and average weight of fruits and especially the early

precocity of the latter were not desired. Eleven subgroups were formed for group I due to its large number of genotypes (Table 5). Intra and inter groups D^2 values are presented in Table 5. Highest inter groups value (D^2) was noted (136.48). While groups I and II had 29.22 and zero intra groups values.

The BGH-132 and BGH-3196 accessions allocated in the first subgroup and the BGH-740 BGH-693, BGH-7865 and BGH-547 in the second subgroup with three controls were selected as parents, based on their behavior *per se*.

Table 2. Quantitative and qualitative descriptors to characterize and evaluate morphological and agronomic traits of 70 okra accessions in the vegetative (VS) and fruiting (FS) stages of the Vegetable Germplasm Bank of the Universidade Federal de Viçosa (BGH-UFV), Viçosa, Minas Gerais State, Brazil.

Phases	Qualitative descriptors
VS	Growth habit; Leaf shape; Shape of the leaf; Leaf margin; Leaf tip; Leaf base; Variability of leaf shape; Leaf colour; Leaf brightness; rib Colour; Petiole colour; Petiole length; Stem hairiness; Flowering; Flower colour; Sepal colour, stigma colour; Inflorescence colour.
FS	Fruit type; Fruit colour; Fruit shape; Fruit surface.
VS	Leaf length; leaf width; internode diameter; internode length.
FS	Fruit length; Fruit width; fruit length/diameter; number of fruits per plant; total fruits per plant; average fruit weight; precocity index.

Table 3. Means¹ and grades² of the sum of inverted positions of four descriptors of economic interest for the accessions and control in the first and second experiments with okra genotypes of the BGH-UFV and three commercial cultivars.

Genotypes	PI ³	NFr	AFW	TWF	Genotypes	PI	NFr	AFW	TWF
BGH - 36	7.02 ^{b11}	18.77 ^{a2}	39.11 ^{a2}	734.33 ^{a1}	BGH-541	2.24 ^{b1}	17.33 ^{a1}	36.81 ^a 3	645.00 ^{a2}
BGH - 100	21.40 ^{a2}	21.22 ^{a2}	36.92 ^{b1}	783.89 ^{a1}	BGH-548	31.23 ^{a2}	10.44 ^{a1}	26.11 ^{b2}	279.89 ^{b1}
BGH - 101	11.25 ^{b1}	18.33 ^{b1}	41.21 ^{a2}	754.89 ^{a1}	BGH-8013	8.28 ^{b1}	20.22 ^{a1}	24.00 ^{b2}	482.78 ^{b1}
BGH - 7799	20.55 ^{a2}	19.66 ^{a2}	34.58 ^{b1}	679.77 ^{a1}	BGH-3090	27.62 ^{a2}	19.66 ^{a1}	25.97 ^{b2}	512.33 ^{b1}
BGH - 132	19.08 ^{a2}	21.77 ^{a2}	35.94 ^{b1}	780.77 ^{a1}	BGH-3143	14.24 ^{b1}	21.00 ^{a1}	25.79 ^{b2}	537.55 ^{b1}
BGH - 7800	6.790 ^{b1}	20.33 ^{a2}	38.59 ^{a2}	784.66 ^{a1}	BGH-3148	11.96 ^{b1}	22.11 ^{a1}	25.55 ^{b2}	566.88 ^{b1}
BGH - 149	1.89 ^{b1}	17.77 ^{b1}	46.27 ^{a2}	820.78 ^{a1}	BGH-3161	11.36 ^{b1}	22.77 ^{a1}	29.26 ^a 3	669.88 ^{a2}
BGH - 182	13.52 ^{b1}	22.44 ^{a2}	39.46 ^{a2}	881.22 ^{a1}	BGH-3170	16.85 ^{a2}	18.66 ^{a1}	29.31 ^ª 3	546.55 ^{b1}
BGH - 190	16.22 ^{a2}	23.77 ^{a2}	37.30 ^{b1}	887.89 ^{a1}	BGH-3182	5.04 ^{b1}	20.00 ^{a1}	31.29 ^a 3	624.33 ^{a2}
BGH - 7811	5.55 ^{b1}	19.33 ^{b1}	41.09 ^{a2}	793.33 ^{a1}	BGH-3188	4.30 ^{b1}	22.89 ^{a1}	22.92 ^{b2}	521.88 ^{b1}
BGH - 295	12.56 ^{b1}	19.66 ^{b1}	38.36 ^{a2}	755.78 ^{a1}	BGH-3196	10.62 ^{b1}	19.00 ^{a1}	30.30 ^a 3	577.44 ^{b1}
BGH - 311	1.38 ^{b1}	11.88 ^{b1}	44.33 ^{a2}	525.44 ^{a1}	BGH-3215	16.81 ^{a2}	17.11 ^{a1}	34.26 ^a 3	585.67 ^{b1}
BGH - 7838	5.34 ^{b1}	18.11 ^{b1}	45.76 ^{a2}	832.89 ^{a1}	BGH-3226	2.76 ^{b1}	17.44 ^{a1}	27.69 ^{b2}	483.33 ^{b1}
BGH - 339	16.96 ^{a2}	21.89 ^{a2}	36.82b2	817.11 ^{a1}	BGH-3227	1.72 ^{b1}	17.55 ^{a1}	24.33 ^{b2}	425.11 ^{b1}
BGH - 345	18.25 ^{a2}	21.55 ^{a2}	37.19b2	802.11 ^{a1}	BGH-4162	6.93 ^{b1}	27.89 ^{a1}	23.96 ^{b2}	566.55 ^{b1}
BGH - 348	10.14 ^{b1}	22.11 ^{a2}	39.49 ^{a2}	892.66 ^{a1}	BGH-4364	10.97 ^{b1}	16.77 ^{a1}	28.11 ^{b2}	473.77 ^{b1}
BGH - 358	24.06 ^{a2}	11.77 ^{b1}	44.37 ^{a2}	512.77 ^{a1}	BGH-4890	6.22 ^{b1}	22.44 ^{a1}	30.47 ^a 3	680.55 ^{a2}
BGH - 359	12.28 ^{b1}	18.11 ^{b1}	36.23 ^{b1}	658.33 ^{a1}	BGH-4893	11.10 ^{b1}	20.33 ^{a1}	21.24 ^{b2}	430.55 ^{b1}
BGH - 361	16.84 ^{a2}	22.33 ^{a2}	31.23 ^{b1}	697.44 ^{a1}	BGH-4894	15.32 ^{b1}	16.66 ^{a1}	26.96 ^{b2}	448.89 ^{b1}
BGH - 395	17.03 ^{a2}	21.44 ^{a2}	34.04 ^{b1}	730.22 ^{a1}	BGH-4897	5.21 ^{b1}	16.89 ^{a1}	24.65 ^{b2}	418.00 ^{b1}
BGH - 435	17.90 ^{a2}	24.11 ^{a2}	38.88 ^{a2}	916.66 ^{a1}	BGH-4903	9.39 ^{b1}	18.77 ^{a1}	27.91 ^{b2}	527.44 ^{b1}
BGH - 547	17.28 ^{a2}	22.44 ^{a2}	34.92 ^{b1}	695.66 ^{a1}	BGH-4904	10.90 ^{b1}	18.77 ^{a1}	35.71 ^ª 3	670.55 ^{a2}
BGH - 577	10.98 ^{b1}	20.11 ^{a2}	47.97 ^{a2}	966.00 ^{a1}	BGH-4907	10.37 ^{b1}	21.50 ^{a1}	23.69 ^{b2}	507.16 ^{b1}
BGH - 643	6.95 ^{b1}	22.55 ^{a2}	36.41 ^{b1}	829.88 ^{a1}	BGH-4908	0.52 ^{b1}	25.44 ^{a1}	30.40 ^a 3	771.33 ^{a2}
BGH - 667	22.33 ^{a2}	17.89 ^{b1}	40.08 ^{a2}	721.33 ^{a1}	BGH-4910	8.29 ^{b1}	20.11 ^{a1}	25.37 ^{b2}	510.22 ^{b1}
BGH - 693	10.21 ^{b1}	23.22 ^{a2}	38.55 ^{a2}	892.55 ^{a1}	BGH-4913	10.84 ^{b1}	23.44 ^{a1}	22.63 ^{b2}	527.66 ^{b1}
BGH - 740	12.22 ^{b1}	19.99 ^{a2}	39.43 ^{a2}	783.33 ^{a1}	BGH-4922	00.00 ^{b1}	17.89 ^{a1}	26.90 ^{b2}	479.66 ^{b1}
BGH - 960	19.37 ^{a2}	19.72 ^{a2}	35.40 ^{b1}	698.88 ^{a1}	BGH-4945	08.23 ^{b1}	18.89 ^{a1}	26.31 ^{b2}	495.22 ^{b1}
BGH - 961	28.55 ^{a2}	17.77 ^{b1}	40.69 ^{a2}	721.33 ^{a1}	BGH-5408	10.85 ^{b1}	16.33 ^{a1}	29.88 ^a 3	490.11 ^{b1}
BGH - 7863	09.61 ^{b1}	23.22 ^{a2}	44.93 ^{a2}	1049.3 ^{a1}	BGH-5417	28.25 ^{a2}	22.83 ^{a1}	26.78 ^{b2}	611.72 ^{a2}
BGH - 7864	17.57 ^{a2}	21.11 ^{a2}	39.85 ^{a2}	837.22 ^{a1}	BGH-5421	11.65 ^{b1}	19.78 ^{a1}	26.98 ^{b2}	537.44 ^{b1}
BGH - 7865	15.46 ^{a2}	22.11 ^{a2}	33.58 ^{b1}	740.55 ^{a1}	BGH-6988	00.00 ^{b1}	22.55 ^{a1}	8.660c1	194.11 ^{b1}
BGH - 1248	13.68 ^{b1}	22.55 ^{a2}	38.01 ^{b1}	646.83 ^{a1}	BGH-7448	00.00 ^{b1}	23.66 ^{a1}	36.86 ^a 3	863.33 ^{a2}
BGH - 3183	21.38 ^{a2}	22.66 ^{a2}	34.55 ^{b1}	784.11 ^{a1}	SantaCruz	09.66 ^{b1}	23.66 ^{a1}	26.73 ^{b2}	503.22 ^{b1}
BGH - 7912	00.96 ^{b1}	16.66 ^{b1}	38.99 ^{a2}	646.33 ^{a1}	TPX-903	24.97 ^{a2}	24.55 ^{a1}	21.49 ^{b2}	513.44 ^{b1}
BGH - 4891	05.55 ^{b1}	16.66 ^{b1}	41.06 ^{a2}	685.66 ^{a1}	TPX-4460	22.31 ^{a2}	27.07 ^{a1}	25.87 ^{b2}	517.28 ^{b1}
BGH - 4900	06.46 ^{b1}	16.72 ^{b1}	34.64 ^{b1}	578.83 ^{a1}					

Table 3. Contd.

Santa Cruz TPX - 903 TPX - 4460	09.33 ^{b1} 22.94 ^{a2} 20.69 ^{a2}	16.89 ^{b1} 24.33 ^{a2} 26.00 ^{a2}	42.25 ^{a2} 29.00 ^{b1} 32.31 ^{b1}	680.89 ^{a1} 704.00 ^{a1} 837.77 ^{a1}					
Mean	13.69	20.16	38.49	768.86	Mean	10.73	21.11	26.84	533.06
MS trat ⁴	138.14*	27.87*	52.2*	36094.1*	MStrat	194.15*	31.1*	78.03*	42788.51*

¹Means followed by the same letter, for column belongs to the same group, according to the grouping of Scott-Knott test, at 5% probability. ²Notas received for the group allocated according sum of inverted positions. ³PI Precocity index (%); (NFr): number of fruits per plant; AFW: average fruit weight (g); TWF: total weight of fruits per plant (g). ⁴Treatment mean square, significant at the 5% probability.

Table 4. Summary of variance analysis of the environments (Env.) in relation to the commercial control for the descriptors of economic interest (Desc.) of okra genotypes of the BGH-UFV and three control cultivars.

Deee		Maan	0) //////				
Desc.	Bl/Env. (2) ¹	Env. (1)	Genotypes (2)	GxE (2)	Residue (10)	Mean	CV(%)
Pl ²	07.23	5.02	345.90	0.650 ^{ns}	36.17	18.18	33.06
Nfr	02.63	0.026	21.37	63.93 ^{ns}	18.57	22.37	19.26
TWF	10.20	241741.9	10969.6	10629.4 ^{ns}	6930.1	625.00	13.31
AFW	11.42	593.97	68.69	92.18 ^{ns}	15.35	28.77	13.61

^{ns}Non significant at 1% probability by *F* test. ¹Degree of freedom. ²PI precocity index (%) per block/environment (BI/Env); NFr: number of fruits per plant; TWF: total weight of fruits per plant (g). AFW: average fruit weight (g).

Table 5. Groups (Gr.) and Subgroup (subgr.) formed with 70 okra accessions from the BGH-UFV and three cultivars and distance intra and inter groups by Tocher's method based on Mahalanobis' generalized distance (D²).

Gr.	Subgr.	Genotypes
	1	BGH-182 BGH-348 BGH-7800 BGH-345 BGH-643 BGH-7799 BGH-4900 BGH-4891 BGH-132 BGH-3227 BGH-311 BGH-7838 BGH-5408 BGH-4913 BGH-295 BGH-359 BGH-4162 BGH- 4922 BGH-435 BGH-3196 BGH-4393 BGH-960 BGH-100 BGH-339 BGH-3143
	2	BGH-740 BGH-5421 BGH-693 Santa Cruz 47 BGH-4894 BGH-7865 BGH-7864 BGH-4945 TPX 4460 BGH-190 BGH-8013 BGH-3090 BGH-395 BGH-3148 BGH-547 BGH-361 BGH-3188 BGH-4897 BGH-101 BGH-7912 BGH-5417 BGH-3183 BGH-4910 TPX 903 BGH-4903 BGH-36 BGH-3182
	3	BGH-577 BGH-7863 BGH-1248 BGH-149 BGH-7448 BGH-4908
I	4	BGH-3161BGH-4890 BGH-3170 BGH-3215
	5	BGH-961 BGH-548
	6	BGH-541 BGH-3226 BGH-7811
	7	BGH-667
	8	BGH-4904
	9	BGH-358
	10	BGH-4364
	11	BGH-4907
П		BGH-6988
		Distance intra and inter groups
		I II
I		29.22 136.48
II		0.00

The BGH-1141, BGH-4890 and BGH-961 were allocated

in the third, fourth, and fifth subgroups, respectively.

DISCUSSION

The variability of the qualitative descriptors between the accessions provides information of potential parents for hybridization and development of new cultivars (Sanwal et al., 2012). These characteristics are linked to the economic value of the okra fruits, as the green colour of the fruit is preferred by consumers (Solankey et al., 2013). The selection of BGH-132, BGH-311, BGH-7838, BGH-359, BGH-547, BGH-693, BGH-740, BGH-961, BGH-7863, BGH-7865, BGH-1248, BGH- 3196, BGH-4162, BGH-4890 and BGH-4913 accessions was based on qualitative descriptors, namely, colour of fruit; and predominant format of round fruit, angular pods, or smooth surface. However, some accessions with angular pods format were selected because Santa Cruz cultivar, one of the most planted in Brazil, has fruits with round shape, which does not meet the preference of the foreign market. This shows there is a necessity in the production system, including cultivars with angular pods format adapted to Brazilian climate and to increase export of preferred okra in the foreign market (Purqueiro et al., 2010). Differences between genotypes for quantitative descriptors of economic interest in precocity index, number of fruits per plant, and average and total weight of fruits per plant confirmed the high variability of okra accessions in the germplasm bank, which is important for the genetic improvement of population of this plant (Koundinya et al., 2013). Moreover, these features contribute to increased crop yield, which is the main objective of okra breeding programs (Dhankhar and Mishra, 2005).

The BGH-132, BGH-547, BGH-693, BGH-740, BGH-961, BGH-7863, BGH-7865, BGH-3196 and BGH-4890 accessions were selected by the sum of inverted positions for quantitative descriptors of economic interest. This index is an efficient technique to select genotypes, as for other crops (Vivas et al., 2012; Almeida et al., 2014). The highlight of the BGH-132, BGH-547, BGH-961, and BGH-7865 accessions by early precocity and productivity is important because genotypes that bloom first provide earliest crops with longer fruiting period and higher number of fruits per plant (Medagam et al., 2012). The selection and introduction of these accessions enable breeding programs to explore heterosis obtaining cultivars or hybrids with higher productivity and income (Jindal et al., 2010). The non-significance of genotype x environment interaction for traits of economic interest demonstrated no differences in responses compared to the control to environmental variations, which may complicate studying morphological and agronomic traits of economic interest (Kyriakopoulou et al., 2014). To determine the divergence, the genetic distances between the genotypes were initially estimated by the Generalized Distances of Mahalanobis. Group with single genotype (II) indicates their independent identity and importance due to unique characters possessed by them. The intra group values were less than inter-groups values

indicating the homogenous and heterogeneous nature of the genotypes within and between the groups (Singh et al., 2013). Both groups initially formed by Tocher's method showed genetic distance between accessions, which is important to qualify the degree of divergence among populations and to evaluate the relative contribution of different components of the total divergence (Bhutia et al., 2015). The BGH-6988 access, the only one in the second group, presented inadequate mass and total fruit production and precocity index. In addition, this access has purplish fruits, a standard not acceptable to the national and international market that prefers green fruit (Solankey et al., 2013). The estimated distances with high magnitude between pairs of individuals within group I justify the establishment of a subgroup, and crosses between accessions of different subgroups could enable restoration of transgressive segregant in advanced generations (Bhutia et al., 2015).

The BGH-740, BGH-693, BGH-7865 and BGH-547 accessions selected as parents made up the same subgroup as the three controls, based on their behavior *per se.* Accessions similar to the cultivars can be interesting because they could be used as parents in breeding programs, because is faster for the recovery of the agronomic characteristics (Adalid et al., 2012).

Conclusion

The okra accessions of the BGH-UFV have wide variability for quantitative and qualitative morphological and agronomic descriptors. The BGH-132 BGH-547, BGH-693, BGH-740, BGH-961, BGH-7863, BGH-7865, BGH-3196 and BGH-4890 can be used as potential progenitors in okra breeding programs.

Conflict of interests

The author(s) did not declare any conflict of interest.

Abbreviations

NFr, Number of fruits per plant; **AFW**, average fruit weight; **TWF**, total weight of fruits per plant.

REFERENCES

- Adalid AM, Roselló S, Valcárcel M, Nuez F (2012). Analysis of the genetic control of β -carotene and I-ascorbic acid accumulation in an orange-brownish wild cherry tomato accession. Euphytica 184(2):251-263.
- Aguiar FM, Michereff SJ, Boiteux LS, Reis A (2013). Search for sources of resistance to Fusarium wilt (*Fusarium oxysporum f. sp. vasinfectum*) in okra germplasm. Crop Breed. Appl. Biotechnol. 13(1):33-40.
- Almeida LM, Viana AP, Amaral Júnior AT, Carneiro Júnior JB (2014). Breeding full-sib families of sugar cane using selection index. Ciênc.

Rural 44(4):605-611.

- Bhutia ND, Seth T, Shende VD, Dutta S, Chattopadhyay A (2015). Estimation of heterosis, dominance effect and genetic control of fresh fruit yield, quality and leaf curl disease severity traits of chilli pepper (*Capsicum annuum* L.). Sci. Hortic. 182:47-55.
- Cerqueira-Silva CBM, Santos ES, Jesus ON, Vieira JG, Mori GM, Corrêa RX, Souza AP (2014). Molecular genetic variability of commercial and wild accessions of passion fruit (*Passiflora* spp.) targeting ex situ conservation and breeding. Int. J. Mol. Sci. 15(12):22933-22959.
- Cruz CD (2013). Genes: a software package for analysis in experimental statistics and quantitative genetics. Acta Sci. Agron. 35(3):271-276.
- Das S, Chattopadhyay A, Chattopadhyay SB, Dutta S, Hazra P (2012). Characterization of okra germplasm and their genetic divergence in the gangetic alluvium of eastern India. Vegetos Int. J. Plant Res. 25(2):86-94.
- Dhankhar BS, Mishra JP (2005). Objectives of okra breeding. J. New Seeds 6(2-3):195-209.
- Freeman GH (1973). Statistical methods for the analysis of genotypeenvironment interactions. Heredity 31(3):339-354.
- Garg R, Pathak M, Bal SS (2009). A study on genetic diversity among okra varieties. Crop Improv. 38(1):48-52.
- Gonçalves LSA, Rodrigues R, Amaral Júnior AD, Karasawa M, Sudré CP (2009). Heirloom tomato gene bank: assessing genetic divergence based on morphological, agronomic and molecular data using a ward-modified location model. Genet. Mol. Res. 8(1):364-374.
- Govindaraj M, Vetriventhan M, Srinivasan M (2015). Importance of Genetic Diversity Assessment in Crop Plants and Its Recent Advances: An Overview of Its Analytical Perspectives. Genet. Res. Int. 2015(1):1-15.
- Haq IU, Khan AA, Azmat MA (2013). Assessment of genetic diversity in Okra (*Abelmoschus esculentus* L.) using RAPD markers. Pak. J. Agric. Sci. 50(4):655-662.
- International Plant Genetic Resource Institute (IPGRI) (1998). Descriptor for okra (*Abelmoschus manihot* (L.) Medik). Roma: International Plant Genetic Resource Institute, 99p.
- Jindal SK, Arora D, Ghai TR (2010). Studies on heterosis for earliness in spring season okra (*Abelmoschus esculentus* L. Moench). SABRAO J. Breed. Genet. 42(2):65-73.
- Koundinya AVV, Dhankhar SK, Yadav AC (2013). Genetic variability and divergence in okra (*Abelmoschus esculentus*). Indian J. Agric. Sci. 83(6):685-688.
- Kyriakopoulou OG, Arens P, Pelgrom KT, Karapanos I, Bebeli P, Passam HC (2014). Genetic and morphological diversity of okra (*Abelmoschus esculentus* [L.] Moench.) genotypes and their possible relationships, with particular reference to Greek landraces. Sci. Hortic. 171:58-70.
- Mahalanobis PC (1936). On the generalised distance in statistics. Proc. Nat. Inst. Sci. Calcutta 12:49-55.
- Medagam TR, Kadiyala H, Mutyala G, Hameedunnisa B (2012). Heterosis for yield and yield components in okra (*Abelmoschus esculentus* (L.) MOENCH). Chil. J. Agric. Res. 72(3):316-325.
- Mulamba NN, Mock JJ (1978). Improvement of yield potential of the Eto Blanco maize (*Zea mays* L.) population by breeding for plant traits. Egypt J. Genet. Cytol. 7:40-51.

- Patil P, Malik SK, Negi KS, John JOSEPH, Yadav S, Chaudhari G, Bhat KV (2013). Pollen germination characteristics, pollen–pistil interaction and reproductive behaviour in interspecific crosses among *Abelmoschus esculentus* Moench and its wild relatives. Grana 52(1):1-14.
- Purqueiro LFV, Lago AA, Passos FA (2010). Germination and hard seedness of seeds in okra elite lines. Hortic. Bras. 28(2):232-235.
- Ramya K, Senthilkumar N (2009). Genetic divergence, correlation and path analysis in okra [*Abelmoschus esculentus* (L.) Moench]. Madras Agric. J. 96(7-12):296-299.
- Rao AV (1952). Advanced statistical methods in biometrics research. John Wiley and Sons, New York.
- Santos EA, Souza MM, Viana AP, Almeida AAF, Freitas JCO, Lawinscky PR (2011). Multivariate analysis of morphological characteristics of two species of passion flower with ornamental potential and of hybrids between them. Genet. Mol. Res. 10(4):2457-2471.
- Sanwal S, Singh B, Verma SS (2012). Genetic divergence and its implication in breeding of desired plant type in okra [*Abelmoschus esculentus* (L.) Moench]. Indian J. Agric. Sci. 82(3):264-266.
- Singh B, Singh R, Sanwal SK (2012). Multivariate analysis in relation to breeding system in okra. Indian J. Hortic. 69(4):536-539.
- Singh RK, Dubey BK, Gupta RP (2013). Intra and inter cluster studies for quantitative traits in garlic (*Allium sativum* L.). SAARC J. Agric. 11(2):61-67.
- Solankey SS, Singh AK, Singh RK (2013). Genetic expression of heterosis for yield and quality traits during different growing seasons in okra (*Abelmoschus esculentus*). Indian J. Agric. Sci. 83(8):17-21.
- Vivas M, Silveira SF, Pereira MG (2012). Prediction of genetic gain from selection indices for disease resistance in papaya hybrids. Rev. Ceres 59(6):781-786.
- Yuan CY, Zhang C, Wang P, Hu S, Chang HP, Xiao WJ, Lu XT, Jiang SB, Ye JZ, Guo XH (2014). Genetic diversity analysis of okra (*Abelmoschus esculentus* L.) by inter-simple sequence repeat (ISSR) markers. Genet. Mol. Res. 13(2):3165-3175.